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QUESTION 1

You create two maintenance packages and only one package should be executed at a time. Which parameter
determines this?

A. Offset

B. Subsequent buffer
C. Hierarchy

D. Package sequence

Correct Answer: C

QUESTION 2

How does the work center influence cost calculation in the maintenance order? Note: There are 2 correct answers to
this question.

A. Via organizational unit and personal hourly rate
B. Via activity type and hourly rate

C. Via business partner and hourly price

D. Via cost center and activity type

Correct Answer: BD

QUESTION 3

Which activities can the technician perform with the Repair Malfunction SAPUI5 app? Note: There are 2 correct answers
to thisquestion.

A. Release. Print

B. Put in Process. Schedule
C. Release. Start Work

D. Complete. Close Report

Correct Answer: CD

QUESTION 4
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Which of the following objects can you directly assign when you define the work center? Note: There are 2 correct
answers to this question.

A. Fixed price of the activity type
B. Capacity category

C. Organizational unit (HR)

D. Calculation key

Correct Answer: BC

QUESTION 5

You want to have several plan dates calculated in a maintenance plan. Which scheduling parameter do you use?
A. Call horizon

B. Lead float

C. Scheduling period

D. Scheduling indicator

Correct Answer: C

QUESTION 6

What is a valid partner type within the partner determinationprocedure?
A. Purchasing organization

B. Business partner (gen.

C. Purchasing group

D. Vendor (external)

Correct Answer: B

QUESTION 7

You want to set up a scenario for regular maintenance. The first event should take place after 1 year; after that, it is a
regular cycle of 6 months.Which parameter do you have to use to map this in thesystem?

A. Shift factor
B. Maintenance plan category

C. Maintenance package offset
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D. Scheduling indicator

Correct Answer: C

QUESTION 8

The maintenance technician wants to document the finished work steps for a technical object in a notification. Which
catalog-based option in the notification can be used?

A. An activity in the notification header
B. A text in thesubject long text screen
C. A task in the notification item

D. An entry in the object list

Correct Answer: A

QUESTION 9

Which of the following BOMs we use to set up spare parts planning of functional locations?
A. Maintenance BOM

B. Costing BOM

C. construction BOM

D. Production BOM

Correct Answer: A

QUESTION 10

Which valuation category do you use to refurbish a material?
A. Origin

B. Retail

C. Condition-based

D. In-house/external procurement

Correct Answer: C
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QUESTION 11

Which SAP Ul technology is used for the technicianls job list?
A. SAP GUI for Windows

B. Web Dynpro

C. SAPUI5

D. SAP GUI for HTML

Correct Answer: B

QUESTION 12

You create a revision for a maintenance event builder (MEB) scenario. Which of the following statements are correct?
Note: Thereare 2 correct answers to this question.

A. You can assign a network to a revision.

B. You must assign maintenance notifications to the revision.
C. You must use hierarchical task lists for the MEB scenario.
D. You can assign a hierarchical task list to the revision.

Correct Answer: BD

QUESTION 13

What is the correct receiver object type for the settlement of arefurbishment order?
A. The fixed asset

B. The cost center

C. The material

D. The WBS element

Correct Answer: C

QUESTION 14
A piece of equipment cannot be linked to a material. Determine whether this statement is true or false.
A. True

B. False
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Correct Answer: B

QUESTION 15

Which of the following statements about orders with operation account assignment (OAA) are correct? Note: There are
3 correct answers to this question.

A. The settlement rule is maintained onheader level.

B. Purchase requisitions have the operation as account assignment.
C. A technical object must be assigned to an order operation.

D. Costs are only stored for the operation object.

E. Overall costs are dynamically summed up on header level.

Correct Answer: CDE
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